
1320 ERRATA

TABLE III. P branching, logft, and 8'(GT) values in the Se decay to y emitting levels.

Ex (keV}

98
164
497
790
934

1076
1691
1744
1865
2119
2152
2184
2347
2409
2533
2873
3031
3144
3220
3347
3395
3469
3652
3999

I, (%)

22.0 +9.6
5.08+6.90

25.06+5.02
0.46+0.45

17.14+3.34
0.52+0.34
0.85+0.44
1.57+0.35
2.03+0.44
8.24+1.62
2.35+0.54
2.94+0.62
0.26+0.08
1.31+0.31
4.51+0.90
1.70+0.38
0.91+0.21
0.89+0.21
0.73+0.16
0.23+0.06
0.40+0.08
0.33+0.08
0.16+0.04
0.08+0.02
0.20+0.05

logfot

5*79—O. z6

6.39
5 68+0.09

79—0.33

6.25", , ',

5 59+0.13

8'(GT) X 10-'

627+285
158
815+184
20+20

966+192
34+22
62+33

217+56
294+79

1396+325
546+144
708+173
65+22

405+110
1612+391
678+175
586+163
740+210
730+199
258+80
566+144
500+151
281+85
197+59

1002+318
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Erratum: Inclusive production of K+ mesons in 2.1-GeVlnucleon nuclear collisions
[Phys. Rev. C 40, 640 (1989)]

S. Schnetzer, R. M. Lombard, M.-C. Lemaire, E. Moeller, S. Nagamiya, G. Shapiro,
H. Steiner, and I. Tanihata

In Table VI, p. 648, the last entry, for Ne+Pb, reading 150+90, should read 250+90. On page 650, in line 18 of the
right-hand column, 72% should read 42%.

1990 The American Physical Society

Erratum: Differences in straggling for positrons and electrons
[Phys. Rev. C 40, 1632 (1989)]

D. P. Heddle and Leonard C. Maxirnon

On page 1635, in Eq. (29) the expression for c& is missing an overall minus sign. It should read

(2y —1)
C) =

'V

On page 1637, in Eq. (44) the symbol a —should be a—.
On page 1637, in the expression for a in Eq. (46), the minus sign following y should be replaced by a plus sign. It

should read

a =gP [2—(y+1) ] .

On page 1640, the current address for D. P. Heddle should be amended to read Department of Physics and Computer
Science, Christopher Newport College, Newport News, Virginia 23606.
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